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�����������	 	���
�ก��� NAT ก�������������ก 192.168.2.12 ����#� 203.44.135.9 ()*�+,�-��
��ก�.�/�01�23�24���,����5���1� �.�/*��4��.�/�01�23�24�6�-��+	�7	1���ก��2���.�/�01�2
3�2��ก�7,872	�� 4�0����*�.�/*����ก3�2��ก���-16�-��+	�7	1��0,�-��7,+,��.�/*����ก
�.�/�01�23�24��-1�7,��#�9:�2���*-	,�	�7	1�ก1�� ���0,�-;���*61���ก��2���.�/�01�23�2��ก��<���
��#�0,�-;���*-�������7�7�6	,�ก=����7��#�������7�7�66=�5��>�.�/�01�23�2��ก (203.44.135.9) 
0���
�ก��� NAT [13] 
 
2.1.2 2;��.�6	� (Unicast) 
 ก��61�0,�-;��>>2;��.�6	���#�ก��61��>>������J;,��>���2��.�/*���7�2� 4�ก�����*
	,��ก��61�0,�-;�45,ก�>J;,��>5��2�.�/*�� ก��61��>>2;��.�6	���6�,��0,�-;�(<=�	�-�=����J;,��> 7��
3����* 2.2 (�67�ก��61�0,�-;��>>2;��.�6	�) ()*��67�ก��61�0,�-;�45,J;,��>�=���� 4 �.�/*�� J;,61�
	,��6�,��K
70,�-;��=���� 4 K
7��,��)�61���ก�� +,���#�ก��61�0,�-;�-��	�-��7�2���=�45,6�<����/��
�>�7���7L���#��21��-�ก 

 
3����* 2.2 �67�ก��61�0,�-;��>>2;��.�6	� 
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2.1.3 -��	�.�6	� (Multicast) 
 ก��61�0,�-;��>>-��	�.�6	���#�ก���ก,�0�PQ5�6�<����/���>�7���7L�0��ก��61�
0,�-;��>>2;��.�6	� 4�ก�����*	,��ก��61�0,�-;�K
7�7�2���2��J;,��>���2���5��2R �.�/*�� 7��3��
��* 2.3 (�67�ก��61�0,�-;��>>-��	�.�6	�) ก��61�0,�-;��>>-��	�.�6	��)�K1�2���52�7�>�7���7L� 
��/*����ก0,�-;���*+;ก61���ก��-����2�K
7�7�2� �	161���+)�J;,��>�7,5��2�.�/*�� ก���=�61�0,�-;�
�>>-��	�.�6	���<�)��=�-�4K,4�ก��61�0,�-;���*��#�-��	�-��7�2 61���<�3������6�2�����,�-R ก�� 
��-+)�ก�����K
-����ก��>>�67�3������6�2�7,�2 

 
3����* 2.3 �67�ก��61�0,�-;��>>-��	�.�6	� 

 

 
 
 ก��61�0,�-;��>>-��	�.�6	���4K,-��	�.�6	�8��8	.�� ()*���#�8��8	.����*-�ก��
6�,��������กK
75�)*���/*�ก=�5�7��7�7�60��J;,��>45-1 8S6	���*	,��ก����>0,�-;����,��0�0,�-;� 
872����0��8S6	���*�,��0���+;ก�ก�>����#� Distribution Tree 0����>>-��	�.�6	� �-/*�0,�-;�-��
	�.�6	�+;ก61���ก��4��.�/�01�2 ����	�����.,�5��1�8S6	���*��>0,�-;��2;1��*47 �)��=�6=����0,�-;���<�
��,�61���2���.�/�01�2��<�R 	1�����+)�J;,��> �-/*�47��*8S6	��-1	,��ก��0,�-;�-��	�.�6	���,� ก���61�
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.=��,��0���ก��กก�
1- ก��ก4�ก���0,��1�-ก�
1-5�/���ก��กก�
1-���ก�70)<�	��7����4�
�.�/�01�2 
 5�1�2���.�>.
-ก��ก=�5�70��������7�7�6�7,ก=�5�745,4K, Class D 6=�5��>��
��-��	�.�6	� 5-�2.��-�1�ก�
1-0������-��	�.�6	���7�7�6��<�5-7���2;14�K1�� 224.0.0.0 +)� 
239.255.255.255 872��กZ��������7�7�60�� Class D ��<�  ���-1-�ก���>1� net id ��� host 
id ()*��	ก	1����ก������7�7�60�� class A-C 7��3����* 2.4 (�67�������7�7�60�� Class A-
D) 
 

3����* 2.4 �67�������7�7�60�� Class A-D 
 

 
 
2.1.4 �^������� (Firewall) 
 �^������� 4�.��-5-�2���7,��.�-����	�����<� 5-�2+)� ��>>�a��ก�����	��2
��ก�����������	5�/��.�/�01�23�2��ก ��/*����ก�P��
>�������������	-�>�>��6=�.�Q	1�ก��
7=�����ก��ก��-	1��R ��#��21��-�ก �-1�1�����#�7,��ก��	�7	1�6/*�6�� L
�ก�� ก��b)กZ� 5�/��1�
��/*�.��->������ ��.�ก�	1��R ��<�3�.��c�����กK� 	1��ก��=�����.�/�01�20��	��K/*�-	1��0,�ก�>
�����������	��/*���*���7,��>���82K���5�1���< ()*�ก���=�����.�/�01�2���K/*�-	1�ก�>�����������	��<� 
�=�45,�
ก.���*4K,�����������	6�-��+�0,�-�2���.�/�01�2��<�R �7, �PQ5���*	�--�ก�./�.��-�6�*2�4�
��/*��.��-���73�20���.�/�01�2��*���+;ก������>> 5�/�08-20,�-;��7, 
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3����* 2.5 �67��^�������ก�<���5�1�������������	ก�>�.�/�01�23�24� [13] 
 

 
 
 �^���������#�.�-8�����	�5�/�ก�
1-0��.�-8�����	��=�5�,���*4�ก��.�>.
-ก��
�0,�+)���5�1���.�/�01�23�2��ก5�/��.�/�01�2��*.�7�1��-1���73�2 ก�>�.�/�01�23�24�5�/�
�.�/�01�2��*���	,��ก�����a��ก�� 7��3����* 2.5 (�67��^�������ก�<���5�1�������������	ก�>
�.�/�01�23�24�) 872��*.�-8�����	���<��������#�����	��� �.�/*��.�-����	��� 5�/��.�/�01�2
���ก�>ก�� 0)<��2;1ก�>��L�ก��5�/�6+��P	2ก��-0���^���������*4K, [13] ()*��^���������*4K,4�
��>>�d�>�	�ก��      ���
ก(�61��45Q1./� iptables  
 
2.1.5 �PQ5����0,��=�ก�70��ก��61�0,�-;��>>-��	�.�6	�J1�� NAT 
 ก��61�0,�-;��>>-��	�.�6	���#�ก���ก,�0�PQ5�ก��6�<����/���>�7���7L�0��ก��61�
�>>2;��.�6	� �	1ก���=� NAT �0,�-�4K, �=�45,���ก�ก�	0��-��	�.�6	��-16�-��+61�J1�� NAT �0,�
���7, 7��3����* 2.6 (�67�61��5��0�����ก�ก�	��*61� �0,�/��ก J1�� NAT) ��/*����ก0,�-;���7�7�6
���2���4����ก�ก�	��*61�-���ก-��	�.�6	���#�-��	�.�6	���7�7�6 ()*���#���7�7�6��* NAT 
Server �-16�-��+.,�5�8S6	����2����7, NAT �)���<����ก�ก�	 
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3����* 2.6 �67�61��5��0�����ก�ก�	��*61� �0,�/��ก J1�� NAT 
 

 
 ��ก�PQ5�7��ก�1���)���#�6��5	
45,8S6	���*�2;15��� NAT ��<��-16�-��+��>0,�-;�
�>>-��	�.�6	��7, 7����<�+,�6�-��+61�0,�-;��>>-��	�.�6	�J1�� NAT �7,ก���K1�245,�ก�7.��-
6�7�ก4���.�ก� ����2�ก���>>���������ก7,�2 
 
2.2 �������2��*�ก�*2�0,�� 
 ��*J1��-��7,-�ก��b)กZ��PQ5���*�.�/*���;ก01�25��� NAT server �-16�-��+
	�7	1�6/*�6��ก�>�.�/*���;ก01�25��� NAT server �/*��7, �P��
>���7,-���L�ก��	1��R ��*���ก,�0�PQ5���< 
�7,�ก1 ก��4K, Proxy server ��#�ก����ก�>>8724K,8��8	.�����*-�(6K�� (SIP) ��/*����*-ก��	�7	1� 
8��8	.����*4K,4�ก��	���5�K��70�� NAT server ���6�-��+�1����	�-�.�/*���;ก01�2�	1��
�.�/*��5��� NAT server (STUN) ��ก��ก��<2��-�ก��4K, TURN ��/*�02�2.��-6�-��+0�� STUN 
45,�K/*�-	1��.�/*���;ก01�2��*�2;15��� NAT server ��*�	ก	1��ก���7, 5�/�7,�2��L�ก���ก,�0��* NAT 
server ��� ��#�	,� 
 �P��
>���
�ก���45-1R 6�-��+�����>ก���=����0��-��	�.�6	��7,��,� �	12���-1
6�-��+�=�-��7��� NAT server �7, ��/*����ก�.�/*����*4K,��#� NAT server 61��45Q1��#��.�/*��
.�-����	��� ()*��-1�7,�=�5�,���*��#��.1 NAT ��1���<� �	12����-��+)��^�������, DHCP, DNS ��� 
4K,6=�5��>ก���K���^��ก��3�24�7,�2 7����<�ก����*������*2���4K,����	���-��=������� NAT ��<�
�)���#���/*����*2�ก ��ก��<�����	����	1��2�*5,�ก�-�ก���=�����p���	�--�	�c��0��J;,J��	 ก����*
J;,4K,���ก,�05�/����>�	1�45,��#���	�-��*	,��ก����<��=��7,2�ก 
 7����<�J;,����2�)���/�ก4K,��L�ก��4�ก���ก,�0872���>�	1���*�.�/*�� NAT server ��/*����ก
6�-��+�����>ก���=����0��8���ก�-	1��R �7,����� 872��*�-1	,���ก,�08���ก�-45-1 �	1ก��
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�ก,�0��* NAT server ��<�ก�-�.��-(�>(,��-�ก7,�2�K1�ก�� 5�ก�ก,�0�-1.��>.�
-����=�45,-�
0,�>ก��1����+;ก8�-	���ก3�2��ก�7, 
 
2.2.1 Multicast Distribution Trees (MDT) [12] 
MDT ��#�ก����/�ก�6,����0��-��	�.�6	�����	���4�ก��61����ก�ก�	��5�1������	���7,�2ก����� 
��/*�45,-�*�4��1�����	����	1��	���7,��>-��	�.�6	����ก�ก�		�-��*	,��ก�� 
            ��ก3�� 2.7 (J���.�/�01�2��5�1�� router ก�> host) 8S6	��.�/*����* 2, 4, 8 ��� 10 ��#�
6-�K�กก�
1--��	�.�6	� 7����<� -��	�.�6	�����	�����*	1�872	��ก�>8S6	��5�1���<� �7,�ก1 ����	��� A, 
B, C, E ��� F ��1���<���*	,��ก��-��	�.�6	����ก�ก�	����R 
 

3����* 2.7 J���.�/�01�2��5�1�� router ก�> host 
 

 
 
�
7���6�.���*6=�.�Q4�ก����/�ก�6,����-��	�.�6	� ./� ก��5��0��5�/�ก�*�ก,�� (tree) ��*�K/*�-	1� 
ก�>0�>����	�����<�5-7��*	�7ก�>8S6	���*��#�6-�K�ก0��ก�
1--��	�.�6	� 872-��	�.�6	����ก�ก�	��
�7�������กJ;,61���2���
ก8S6	���*�2;14� tree 	�-�6,���� tree ��*6�,����, ()*�  tree ��<���
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���ก�>7,�2����	�����*�-1�7,	�7	1�ก�>8S6	���*��#�6-�K�ก0��ก�
1--��	�.�6	�872	��7,�2 
(	���21���K1� ��ก�;� �7,�ก1 ����	��� D) 8724�����d�>�	�-� 2 ��L���*4K,4�ก��6�,���6,����0�� Tree 
./� Group - Shared Tree  ���  Source u Based Tree 872 Group u Shared ��4K,�6,����4�
ก��ก����2���ก�ก�	���2��6,�����7�2�6=�5��>J;,61��
ก.�4�ก�
1- 0����* Source u Based  ��
6�,�����0)<�-�6=�5��>J;,61��	1��.���#�ก���p��� 
Multicast Routing Using a Group u Shared Tree 
                ��/*����ก��L���<�-1�1�J;,61�����#�4.�ก�	�-��	,��4K, Tree �7�2�ก��4�ก��61����ก�ก�	+)�
J;,��> 7����<��)�	,��5� Tree ��*�K/*�-	1�ก�>0�>����	��� (����	�����*	1�ก�>8S6	���*��#�6-�K�ก0��
ก�
1--��	�.�6	�872	��) �
ก	��  ()*���L���*��2-4K,4�ก����/�ก�6,����6=�5��>6�,�� Tree ./� Center 
u Based approach 872ก��ก=�5�7 Center node 5�/� Rendezvous point  5�/�  Core 0)<�-�  
���*-7,�20�>����	���61� join message -���* center node 872��* join message ��*61�-���<���+;ก
61�	1���	�-����	���	1��R 7,�2��L�2;��.�6	���ก�1���+)� center node 5�/�����	�����*��#�61��5�)*�
0�� tree  ���6=�5��>�6,������* join message 4K,�7�����-�2�� center node ก���ก��2��#�ก�*�
5�)*�0�� tree ��<��� (�K/*�-��5�1��0�>����	�����*��#�J;,61� join message ��<�-�ก�> center node) 
()*��6,����45-1��<��+;ก	1��0,�ก�>ก�*�5�)*�0�� tree ��<���*-��2;1ก1����,� 	���21���K1� ��ก3�� 2.8 
(Multicast Routing 7,�2��L� Shared Tree) 45,����	��� C ��#� center node 0�� tree ���85�7 
F ��#�6-�K�ก0��ก�
1--��	�.�6	� ()*�61� join message 45, C 7����<� �6,��K/*�-	1� CF �)�ก��2��#�
ก�*���ก0�� tree  ��ก��<� 85�7 D �0,��1�- tree 872ก��61� join message 45, C ()*���	,��61�J1��
85�7 E 7����<��6,���� CED �)�	1��0,�ก�> tree �7�-ก��2��#�ก�*�45-1��กก�*�5�)*�0�� tree  6
7�,�2 
85�7 I 61� join message -�45, C 87261�J1��-����85�7 F   �	1��/*����ก85�7 F   ��#�61��
5�)*�0�� tree �2;1��,�  7����<��-/*� join message �7�����-�+)�85�7 F �6,��K/*�-	1� CF �)�	1��0,�
ก�> tree 872����� (872��#�ก��	1�ก�*� CF ��ก����#� CFI) 
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 3����* 2.8 Multicast Routing 7,�2��L� Shared Tree 
 

 
 
                Group u Shared Tree -�0,��7,����2>4���/*��0���/<���*��*4K,�ก�>6+���4��	1������	���
�,�2 �	16=�5��>0,��6�20����L���<./� 4�>��8�ก�6�6,������5�1��J;,61�ก�>J;,��>����-14K1�6,������*
�5-��6-��*6
7 ()*�����=�45,�ก�7.��-�1�K,�4�ก��0�61����ก�ก�	���6=�5��>J;,��ก�>>�.�/�01�2
.��	,��.=��)�+)�ก����/�ก center node 7,�2 
  
2.2.2 Multicast Routing Using a Source-Based Tree (SBT) [12] 
                0����*��L� Group-Shared Tree 6�,�� tree ���2��6,�����7�2��-1�1���4K,61����ก�ก�	
��*-���กJ;,61�.�47ก�	�- �	1��L� Source - Based Tree ��6�,�� tree 6=�5��>J;,61��	1��.�4�
ก�
1--��	�.�6	�4�����d�>�	���4K,��L� Reverse Path Forwarding (RPF) Algorithm 4�ก��6�,�� 
tree  �-/*�����	����7,��>-��	�.�6	����ก�ก�	()*�-���*�2;1J;,61���>
�2;17,�2��<�����	�����61�	1����ก�ก�	
��ก��2���
ก�6,��K/*�-��*	1�ก�>	� (2ก��,� �6,��K/*�-7,����*�7,��>���ก�ก�	�0,�-�) �	1����	�����
2�-��>���61�	1����ก�ก�	��<�ก�	1��-/*�����	����7,��>���ก�ก�	��<���ก�6,��K/*�-��*-��6,������*6�<���*6
7 
��7��ก	�����ก��>��5�J;,61���1���<� (shortest path back to the sender)  +,�����	��� �7,��>���ก
�ก�	��ก�6,��K/*�-�/*� 5�/��7,��>���ก�ก�	(<=� ����	���ก����-16�4����ก�ก�	��<� ����-161�	1�7,�2 ��L���<
����	����-1	,��ก���;,�1��6,������*6�<���*6
70��	������+)�	,�ก=����7���ก�ก�	./��6,����47 �	1���;,
���2��.1�6,������*6�<���*6
70��	����ก�>J;,61���*�2;1	�7ก����1���<� ��ก3�� 2.9 (Multicast Routing 
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7,�2��L� Based Tree) ����	��� A 61�	1� source-S packet ��45,����	��� C ��� B ��ก��<� ���
�	��� B ��61�	1����ก�ก�	��*�7,��>��ก A (����� A ��#��6,������*6�<���*6
7 �-/*���7��ก B ��2��J;,61�) 
��2������	��� C ��� D  5�����ก��<� B ���-16�4� source-S packets ��*�7,��>��ก����	����/*�R 
��ก �-/*����������*����	��� C ()*��7,��> source-S packet 872	����ก A ��� B �	1��/*����ก B 
�-14K1�6,��K/*�-��*6�<���*6
7 �-/*���7��ก C ��2��J;,61� C �)��-16�4� (��<�) ���ก�ก�	��*�7,��>��ก B ���4�
0���7�2�ก�� C ����>���ก�ก�	��*�7,��>872	����ก A ���61�	1����ก�ก�	��<���2������	��� B, E 
��� F 
 

3����* 2.9 Multicast Routing 7,�2��L� Based Tree 
 

 
 
                RPF ��#���L���*7� �	1+,����������*����	��� D ()*���	,��61�	1����ก�ก�	��45,����	��� G 
��� H +)��-,�1�����	��� G ��� H ���-1	�7	1�ก�>8S6	���*��#�6-�K�ก0��ก�
1--��	�.�6	�ก�	�- 
��/*����ก	���21����< ����	�����*+�7����ก D -����2��.1����	��� G ��� H �)��-1�ก�7�PQ5�-�ก��ก 
�	1+,�6--	��1��6,��K/*�-��*	1���ก D -��=����-�ก ()*�	1��ก�	,���7,��>-��	�.�6	����ก�ก�	��*�-1
	,��ก����ก����	��� D 7����<��)�	,��-���L�ก����*4K,�ก,�PQ5�ก���7,��>-��	�.�6	����ก�ก�	��*�-1
	,��ก��  3�24	,��L� RPF ()*����2ก�1� prunning ��*�./� �-/*�-��	�.�6	�����	����7,��>-��	�.�6	����ก
�ก�	4�0����*	�����-1�7,�K/*�-	1�ก�>8S6	���*��#�6-�K�ก0��ก�
1--��	�.�6	���<� ����	�����61� 
prune message ก��>��2������	���	,������*61����ก�ก�	-�45, ����-/*�����	����7,��> prune 
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message ��ก downstream router -��ก���61�	1� prune message ��2�� upstream router  
0��-�����7,�2 
               Source u Based Tree -�0,��7,����2>	����*6�-��+6�,���6,������*�5-��6-��5�1��J;,
61�ก�>J;,��> ()*�6�*���<��K1�2ก����	��1���4K,����4�ก��61�0,�-;��,�2  �	14�ก��5��6,������*
�5-��6-��*6
7ก�-�	,��
�6;�������1�����	�����	,���ก�>��กZ�0,�-;�6=�5��>J;,61��	1����2 ()*�+,�
�.�/�01�2-��=����J;,61���#����R �.�/*�� ���2��-��=����ก�
1-��#����R ก�
1- ��2�*�K1�2��1�45,�ก�7
�PQ5�����2�ก�0������	����-1���2���   7����<�4�ก����ก�>>�.�/�01�2 J;,��ก�>>�.�/�01�2
��	,���������+)���/*��0��.��-6�<����/��0��5�1�2.��-�=���*�ก�7��ก0��70��	������/�ก
�6,����-��	�.�6	�7,�2 
6-�K�ก0��ก�
1--��	�.�6	�6�-��+�0,�5�/���ก��กก�
1-�7,	��7���� 7����<� Distribution tree 
�)�	,��+;ก���>��
��2;1	��7���� �-/*�J;,��>�
ก.�4�ก�*�R 5�)*�0�� tree 2ก���กก����#�6-�K�กก�
1- 
����	�����	�7ก�*���<���ก��ก distribution tree ���52
761�	1�0,�-;���2��ก�*���<� �	1+,�J;,��>.�47
.�5�)*����2�5�)*�.�4�ก�*���<�ก��>-���#�6-�K�ก0��ก�
1-��ก ����	���ก������>��
� distribution 
tree ��ก.��<� ������*-61�	1�0,�-;� 
 
2.2.3 Protocol-Independent Multicast [12] 
           Protocol-Independent Multicast (PIM) routing protocol ��#���ก5�)*� Internet 
multicast routing protocol ��*4K,ก���21��ก�,��0���4������������	+;ก��{��0)<�-�872ก�
1-��� 
IETF ��/*�6�,��-�	�c��8��8	.����/�ก�6,����-��	�.�6	� (Multicast routing protocol) 
6=�5��>�����������	 872��*8��8	.���-10)<��2;1ก�>8��8	.����/�ก�6,�����>>2;��.�6	�47R PIM -�
�;��>>ก���=����6������3�./� 
              - �>>5����1� (dense mode) [1] ��#�ก���=����4�63����*-�6-�K�ก�
1-�2;1��-ก��
�21��5�����1����-��>�7���7L��5�/���#��=����-�ก 
              - �>>ก����2 (sparse mode) [3] ��#�ก���=����4�63����*6-�K�กก�
1-�2;1ก����2ก��
4������������	����>�7���7L��-1�=���#�	,��-��5�/�-�ก �>>ก����2��<���-�6-�K�ก4�ก�
1-�,�2
5�/�-�กก��7,  
          2.2.3.1 PIM Dense Mode -�5��กก���=����.�,�2ก�> DVMRP ./�4K,��L�>��7.�6	�
2,��ก��>���	�7	���6,������*�-1-�6-�K�ก��ก�� .��-�	ก	1��5��ก0�� PIM Dense Mode ก�> 
DVMRP ./� PIM Dense Mode ��b�2	�����6,������*�ก�7��ก8��8	.��2;��.�6	�47R ��*4K,���
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�2;14�0����<���/*����>����*2��6,����-��	�.�6	� 872��*	������-1�7,4K,5�/�0)<�ก�>8��8	.��
�p���	��47 	1����ก DVMRP ��*J��กก���=����0�� RIP ��#�61��5�)*�0��8��8	.�� 5�/� 
MOSPF ��*�=� OSPF -�4K,4�	����� 
           2.2.3.2 PIM Sparse Mode �5-��6=�5��>ก��4K,4�63����7�,�-��*-�ก��61�0,�-;��=����
-�ก��#�K1�������	1�1�-�J;,��>���2����=�����,�2 	���21��8���ก�-���2
ก	���*�5-��ก�> PIM 
Sparse Mode ./� ก�����K
-����ก�J1���.�/�01�2 WAN ()*�ก��4K,>��7.�6	��=�45,6�<����/�� 
�>�7���7L�-�ก PIM Sparse Mode �=����4��;��>>��*�	ก	1��ก����ก PIM Dense Mode 6��
��กZ��7����< 
            -����	�����*�K/*�-��5�1��ก��8724K, PIM Sparse Mode 	,��61�0,�.��-J1�� IGMP �1�
	,��ก����>0,�-;�-��	�.�6	� -�p���<����-1-�ก����1�20,�-;���2������	�����<� �-/*����2>ก�> PIM 
Dense Mode ��,�����	�������1�20,�-;�-��	�.�6	���ก��	�<��	1��ก���*-��ก�1����7,��>0,�.��-
	�7	�� (prune message) .1�872���2�20�� PIM Dense Mode �)���#�ก����1�20,�-;�-��	�
.�6	� 4�0����* PIM Sparse Mode ��ก��0,�-;� multicast ��ก�1���-�ก����,�0�872	�� 
           - �	1��ก�
1--��	�.�6	���-�����	���5�)*�	���=�5�,���*��#� "�
7��7�>" (rendezvous point) 
��5�1��J;,61�ก�>J;,��> �-/*�J;,61�	,��ก��61�0,�-;���	,��61���2���
7��7�>ก1���6-� ���J;,��>ก�	,��
�0,��1�-ก�
1-872�����>�2���*�
7��7�>�K1�ก�� 
           ��กZ��ก���=����0�� PIM Sparse Mode ./� 0,�-;�-��	�.�6	���61�J1���
7��7�>
����=�ก�
1-ก1���6-� 5�����ก��<�5�ก-��6,����45-1��*�5-��6-ก�1�ก���4K,�6,������<���� 
          4��P��
>��-�����	���>��K��76��>6�
� PIM ��ก��ก��< DVMRP �-1�7,��ก�>>-���/*�4K,
ก�>ก����/�ก�6,�����>>2;��.�6	� 7����<�����	�����*	,����/�ก�6,������<�2;��.�6	����-��	�.�6	�
	,��-�ก��>��ก����/�ก�6,�����2ก��ก��กก�� 
 
2.2.4 UDP Proxy Solution - UDP Tunneling 
 ���.��-.�7��*�>1� Proxy Server ��ก��#� 2 61�� ��#����.��-.�70�� L. Oria [8] 
��*�7,b)กZ��PQ5���5�1��-��	�.�6	�ก�>�^������� ()*���#�ก���ก,�PQ5����5�)*���*45,��>>6�-��+
��
Q�	5�/��d��6Lก����>-��	�.�6	����ก�ก�	J1���^��������7, 872��* Proxy server 7,��5�)*�	1�
ก�>�(���^�����3�24� 61����ก7,��	1�ก�>�(���^�����3�2��ก ��/*���*���=�ก��61�-��	�.�6	����ก�ก�	
��ก3�24���6;13�2��ก7,�2��L� UDP Tunnel ��#�ก�����7��/*��K/*�-	1���5�1���(���^�����3�24�
����(���^�����3�2��ก 7��3����* 2.10 (UDP Proxy with UDP Tunneling over TCP) 
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3����* 2.10 UDP Proxy with UDP Tunneling over TCP 
 

 
 
 Tunnel ����#�ก��4K,��L��/<�c����*-��2;1>� TCP Proxy ��*	�<��2;1>�8���1�����������	
()*��.�����	���	�7	1�ก�>�(���^�����3�24� �����ก����*2�0,�.��-��*��>
8��8	.��6=�5��>	�7	1�
��5�1�� proxy server ����.�����	� ���7,��8���ก�-0�� proxy client �����7 TCP Control 
45,	�7	1�ก�> proxy server 3�24� �-/*�8���ก�-0�� proxy client 	,��ก�����7ก��	�7	1�ก�>ก�
1-
0��5-�2��0�����������	 ก���61�0,�.��-���bZ��45,ก�> proxy server 3�24�872J1�� TCP 
control connection ก�>���� �������	0��8S6	���*	,��ก���0,��1�- �-/*��(���^�����3�24����7 UDP 
Tunnel ��5�1��	���(���^�����3�24�ก�>�(���^�����3�2��ก872ก�����7 TCP Connection �p���
ก�>�(6K�� �-/*��(���^�����3�2��ก��#�6-�K�กก�>-��	�.�6	��(6K���21��6->;�����,� �(���^�����
3�2��ก��>��7�7�60�����ก�ก�	 ��*�(6K��61�-��>>�0,��5�6 ���61����ก�ก�	 45,ก�>�(���^�����
3�24� �-/*��(���^�����3�24��7,��>��,�ก���+�7�5�6���ก�ก�	��ก���61���45,ก�>�.�����	�J1�� 
UDP Connection ��*���7��,ก1�� ���-�ก�����78��8	.��6/*�6���2;1��,���5�1���.�����	���� 
UDP proxy �-/*��(���^�����3�24���>0,�-;���ก�.�����	�J1��8��8	.��ก��6/*�6����+;ก�0,��5�6
���61�45,ก�>�(���^�����3�2��ก �-/*��(���^�����3�2��ก�7,��>ก���+�7�5�6��,�61�0,�-;���6;1
�����������	 
 ��L�0�� Loico ��<��=�45,.��-6�-��+0��-��	�.�6	�5-7�� ��/*����กก���=� 
tunneling ��<� -��	�.�6	����ก�ก�	��+;ก�0,��5�645-1���61���ก��ก proxy server 4��;�0��      
2;��.�6	���� ��#���กZ���7�2�ก�>�������20�� T. C. Wan, C. H. Leong, R. C. W. Thum [10] 
��*4K,�;�0���>>2;��.�6	� �	1ก������2K�<���<���ก,�PQ5���* NAT Server 
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2.2.5 HyMoNet 
 

3����* 2.11 6+��P	2ก��-0�� HyMoNet 
 

 
 
 �������20�� B. Chang, Y. Shi $%& N. Zhang [2] �7,b)กZ�+)���/*��ก��	�7	1�-��	�
.�6	����ก�ก�	��5�1���.�����	� 2 �.�����	� ��*�2;13�24	, NAT server ��<�.;1 3����* 2.11 
(6+��P	2ก��-0�� HyMoNet) �67�8.��6�,��0�� HyMoNet ()*����ก�>7,�2 2 61���7,�ก1 
Service Infrastructure ��� User Space 
 1. Service Infrastructure +;ก	�7	�<�872J;,45,>��ก�����-� UserTracer server ���
2��-�K
70�� stream data servers ��*��>
872 1,2,3,.... 
  - UserTracer �=������#�85�7ก���0����>>���	�>6���	1�ก��.�>.
-0�� 
HyMoNet node ��#�ก��>��ก���0,��1�-5�/���ก��กก�
1-0���	1��J;,4K,������>��
�6+���0��
�	1��J;,4K, UserTracer K1�245, HyMoNet node 6�-��+5�85�7�1��-1 ���2��K1�245,85�7ก;,./�
6=�5��>4�ก�����*85�7�1��-1��ก��ก��>> UserTracer 6�-��+�=�����1�-ก�>8���ก�-�/*�()*�
K1�245,85�7 2 85�7 6�-��+	�7	1�ก���7, ()*���L�7��ก�1����6�,����>> UserTracer �>>��>>
ก����245,��#���	�-�J�ก��ก����2������K1�245,��>>-�.��-�6+�2�-�ก0)<� 
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  - Stream data Server ��#��.�/*����ก���*-����6��L�3��6;����+;ก	�7	�<�4� 
backbone network ()*�-�5�,���*.�,�2ก�> content delivery network 872��*-�8�8�8���0�� stream 
data server ��#���	�-ก��	�7	�<�0��8�8�8�������0���.�/�01�2���.��-	,��ก��0��J;,4K, ��ก
3����* 2.11 (6+��P	2ก��-0�� HyMoNet) 85�7 1 ��#� data source ���85�7 2 ��#� 
redundancy ()*����=����5�����ก��*85�7 1 -��PQ5� 85�7 3 +)� 7 �=�5�,���*��#�	������21��
��7���� ()*���.�2��>0,�-;���ก85�7 1 ���61�0,�-;���45,85�7�;ก0��85�7 1 
 2. User Space ��#�61��0��85�74���>>��<�5-7()*��0,�-���/*���>6�20,�-;� ก��
	�7	1���<�5-7���K/*�-	1�ก��4���กZ���7��-�ก 8.��6�,��0�� user space ����#��>>	,��-,
5�/����2ก�1� ก�
1-0��-��	�.�6	� 87285�7��<�5-7����>0,�-;���ก85�7�1��-1 ()*�85�7��*�2;17,��
>�6
70�� user space ����>0,�-;�872	����ก61����*�2;17,���1��6
70�� service infrastructure  
 85�7 c, f, g, h ��� i ��#�	,��-,()*�	�7	1�ก��J1�� UDP unicast 61��85�7 a, d ��� 
e ��#�ก�
1-0��-��	�.�6	� ���85�7 a, b ��� c ��>0,�-;���ก service infrastructure 
 6+��P	2ก��-0�� HyMoNet node �67���,4�3����* 2.12 ()*+,-./ก112345 
HyMoNet node) 872�>1���#��ก����7, 3 �>>�7,�ก1 
  1. NAT Passer ()*��=�����1�-ก�> UserTracer ���K1�245,85�7J1�� NAT �7,
872�K/*�-	1�872	��ก�>85�7�/*� 
  2. Sender-Buffer-Receiver �=�5�,���*�ก�*2�ก�>ก��61������>0,�-;�0��85�7���
��>��-6�20,�-;�45,ก�> player 
  3. Controller �=�5�,���*7;��0,�-;�J;,4K,0��85�7.�2�K/*�-	1�������>��
�ก��
��>.;1ก�>85�7�/*� 
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3����* 2.12 )*+,-./ก112345 HyMoNet node 
 

 
 
 �-/*����������ก8S6	� A ��� B 	,��ก����*��	�7	1�ก��4���>> peer-to-peer +,��-1
-� NAT ��5�1��8S6	���<� 2 5�/�+,�-�8S6	�478S6	�5�)*��2;13�25��� NAT ��,� ก���K/*�-	1�ก����=�
�7,�1�2��5�1��8S6	� A ��� B �	1J;,����2	,��ก��b)กZ��1��=��21������*��45,8S6	� A ��� B �K/*�-	1�
ก���7,872	��4�0����*�2;13�25��� NAT ��<�8S6	� A ��� B 
 4�8��8	.�� STUN �7,�6����L� UDP hole punching ()*���
Q�	45,-�ก��	�7	1�ก��
�7,872	�����1��8S6	���*�2;13�25��� NAT ����2>���2>ก�> NAT Pass Strategy ��*�7,-�ก��4K,��,�
ก�>��>>�������2��6�-��+�ก,�0>����L�0�� STUN 45,	��	�-.��-	,��ก��0���
�ก���
�.�/�01�2��*4K,�2;1���� 
 �-/*�85�7 A �2;13�24	, NAT 61����ก�ก�	����*�.�/�01�2�����������	 NAT ���=�ก��
��>.;1��7�7�6���*-	,��������	0�����ก�ก�	 ก�>��7�7�6�������	3�2��ก��*��� ��/*���*��J1�� 
NAT 872 global address pair 0���	1�� NAT ��<����=�ก�����2��;,872ก��K1�2�5�/�0��
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8���ก�-0��J;,��*�1�--/�ก����*���2�2�-45,�ก�7ก��	�7	1�ก���7,872	��J1�� NAT �-/*���<�8S6	� A 
��� B ��*�2;13�25��� NAT �7,61����ก�ก�	 UDP ��*+;ก	,������* peer �/*� +/���#�ก��6�,��.��-
�=���#�0�� NAT port mapping ���ก���K/*�-	1��(6K�� 
 4� HyMoNet ��<� UserTracer �=����ก�>8���ก�-K1�2��/*�45,�K/*�-	1�ก���7,872	�� 
�	1�� NAT passer 0��J;,4K,-� module ��*�=�����1�-ก�> UserTracer ��� session 0�� NAT 
Passer module 

 
3����* 2.13 Environment in which the NAT Pass strategy works 

 

 
 
 �-/*�85�7 A ��� B �2;15��� NAT gateway NAT A ��� NAT B 	�-�=�7�> ��/*���*��
	�7	1���2���	1����*�7,872	�� 85�7 A ���85�7 B ��61� ���ก�ก�	 ����* UserTracer ��/*���*��45, 
UserTracer ���>�1�������7�7�6��*J1��ก����>.;1��ก NAT �1���#�.1����� ����-/*� UserTracer 
��,�45,85�7 A ���>�1� NAT B 61�.1�����-������,�45,85�7 B ���>�1� NAT A 61�.1�����-�
5�����ก��<���,�8S6	� A ���8S6	� B ���K/*�-	1�ก����5�1�� NAT A ��� NAT B 872�-1	,��
ก��>��4K, UserTracer ��ก 
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 ��ก3����* 2.13 (Environment in which the NAT Pass strategy works) ��-�ก��
�=����7����< 
  1. 85�7 A ���85�7 B �=�ก��61����ก�ก�	 ����* UserTracer 
  2. �(���^��������=�ก����,�87261����� 59.66.77.138:6000 45,ก�>85�7 A ���61� 
���� 166.111.250.17:3000 45,85�7 B 
  3. 85�7 A 61����ก�ก�	 ��5�85�7 B ��*���� 59.66.77.138:6000 �	1�1����ก�ก�	 
���-16�-��+61���5�85�7 B ������1� NAT B ���=�ก����<����ก�ก�	 ��/*����ก85�7 B �-1�.261�
���ก�ก�	��ก��5����� 166.111.250.17:3000 ��2 
  4. 85�7 B 	�7	1���2��85�7 A 7,�2���� 166.111.250.17:3000 ก���K/*�-	1�ก�
��6->;��� ��/*����ก85�7 A �.261���5����� 59.66.77.138:6000 ��,� 
 �������2��/*�� HyMoNet �67�45,�5��+)�ก���K/*�-	1�872-� UserTracer ��#�	��ก���
4�ก���K/*�-	1�45,�.�����	���*�2;15��� NAT server ��<� 2 �.�����	���<�45,6�-��+��>61�0,�-;��7,��*
��#�-��	�.�6	����ก�ก�	�7,()*���#���กZ���7�2�ก�>�������20�� B. Ford, P. Srisuresh, D. Kegel 
[4]  +,�J;,�0�2�8���ก�-7)����.��-6�-��+0����>> HyMoNet 6=�5��>8���ก�- live media 
streaming 	1��R ก���6�-��+�ก,�PQ5���5�1�� NAT server ก�>             -��	�.�6	��7, �	1�1�
�
7���6�.�0���������2��<./�ก���ก,�PQ5���5�1�� NAT server ก�>-��	�.�6	� 872��*8���ก�-
	1��R ��*�0�2�-���/*�4K,���-��	�.�6	�2��.�6�-��+�=�����7,3�24	,ก���=�����7�-  
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2.2.6 Simple Traversal of UDP through NATs (STUN) 
 

3����* 2.14 STUN Configurations 
 

 
 
 ��ก RFC 3489 �7,�6��8��8	.�� STUN [6] 7��3����* 2.14 (STUN 
Configuration) ��#���กZ����* STUN client ��	�7	1���ก private network 1 	�7	1�ก�> private 
network 2 J1�� NAT server 1. private network 2 	�7	1���2�� internet J1�� NAT server 2. 
STUN server �2;1>� internet 
 STUN ./��;��>>�.�����	�-�(���^�������*��� ��*�.�����	�61�.=��,��0�����*�(���^�����
����(���^�����61�J�ก��>45,ก�>�.�����	� ()*�.=��,��ก���-� 2 �>> ./� Binding Request 61�J1�� 
UDP ��� Shared Secret Request 61�>� TLS J1�� TCP �=�5�,���*7����< 
  - Binding Request (BR) 6=�5��>��/*��
7���6�.�4�ก��	�76��ก�� binding 872 
NAT client 61� BR ��2���(���^�����J1�� UDP ()*��(���^�����	��� ������7�7�6���*-	,�/����	 ��ก
.=��,��0�����=�6=�����0,���4�.=�	�>ก��>��*61�ก��>��45,�.�����	� >������-��	���4�.=��,��0�
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����
Q�	45,�.�����	� 0�.=�	�>ก��>��ก��*61�-���ก��*�/*�5�/��(���^�����61�.=�	�>ก��>��ก 
��7�7�6/����	 ��*	1����ก��.
�6->�	���75� message integrity ��� authentication 
  - Shared Secret Request (SSR) �,��0� server 45,61� username/password 
K�*�.���()*� user/password 4K,6=�5��> subsequent Binding Request 
 ��L���*45, STUN ��*.,�5� NAT ������2��;,��*��4K, binding allocate  
 STUN client ��#��>>��*9P�4��������.K��()*��=���#�	,���7,��> ����6�L����/����	 
+)���6�-��+��>0,�-;��7, 	���21�� STUN client ����=���#���*����> ������7�7�6/����	 ��*�7,��ก 
real time transport protocol (RTP) �-/*��������.K�����*-�=���� STUN client 4��������.K��
��61� STUN SSR ����*�(���^�������/*�0���> username/password ���61� BR ��ก�� STUN 
server 6�-��+.,�5�J1�� DNS SRV record ��� STUN client ���7,��>ก��2�-��> 872       
�.�����	���+;ก configure ก�>87�-���*4K,.,�5� STUN server 872��*�����,�87�-�����75�
>��ก��0��8���ก�-��*4K,�	1�.�����	�6�-��+	�76��4���/�ก��7�7�65�/�K/*�87�-�0�� STUN 
server J1������/*��7, 
 STUN BR +;ก4K,.,�5�K��70�� NAT ���.,�5� ����6�L����/����	 ��*��>.;1J1�� 
NAT server 8724K, BR 61�����* STUN server J1�� UDP �-/*��(���^������7,��> BR ��,��(���^�����
�����
J1�� NAT ��5�1�� STUN client ��� STUN server J1�� UDP �7, J�ก�./���7�7�6���*-	,�
0��ก���,��0���*�7,��>-���ก�(���^�������6�,��.;1��7�7�6 872 NAT ก�> STUN server ��6=���� 
������7�7�6���*-	,�/����	 4� STUN Binding Response ���61�ก��>����* 8�����7�7�6���*-	,�/
����	 0�� STUN request 6=�5��>K��70�� NAT ��<�5-7 6�-��+�;,�7,872ก��	�>6�����*��
-�+)� STUN client 
 �-/*� STUN client ��> STUN Binding Response ��,� STUN client ������2>���2>
ก�>������7�7�6/����	 4����ก�ก�	ก�>������7�7�66�L����/����	0�� STUN client ()*��� 
bound �-/*�61�.=��,��0�����,� +,� ������7�7�6/����	 �-1�5-/��ก�� STUN client ���2;13�24	, 
NAT server 
 4�ก���0�� full-cone NAT ��<� ������7�7�6/����	 ��*�2;14�61��0�� STUN 
response ��4K,�7,�
กR 8S6	�>������������	��*61����ก�ก�	����*�������.K����<� 872 STUN 
request ����������.K���=���#���*��	,��^P��21���7�2�>�������7�7�6/����	��ก STUN 
request ��*61�����,� �
กR ���ก�ก�	 ��*61���ก8S6	�>������������	����* public address/port 
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 8S6	����-1���>�1��2;15���  full-cone NAT �21����1��� ()*���,������,� STUN 
client ���-1���>��2�1��2;15��� NAT ก����*�.�����	������>��<���	,��4K, STUN BR ��#���L�ก��
��*2/752
1����4K,�7,��*����.�����	�.����61� STUN BR .��<���* 2 .��<���<.����-�������7�7�6��*	1��
��ก�� �	1-���ก������7�7�6���*-	,�/����	�7�- �	1+,�������7�7�6���*-	,�/����	��*	�>ก��>-�
��<��	ก	1����ก.��<���ก �.�����	������>�7,�1��2;15��� symmetric NAT  +,��.�����	� �2;15��� 
full-cone NAT ��,� �.�����	�6�-��+��*��61� STUN BR ก�> flag ��*>�ก�1� STUN server 61� 
response ��ก ������7�7�6/����	 ��*	1����ก����ก request ��*��>-� ก�1��./�+,� client BR ��
��* ������7�7�6/����	 A/B 4K, ������7�7�6���*-	,�/����	 X/Y STUN server .����61� Binding 
Response ����* X/Y ��*4K, ������7�7�6���*-	,�/����	 C/D +,� �.�����	���> response ��,���
���>�7,�1��2;15��� full-cone NAT 
 STUN ��
Q�	45,�.�����	��,��0��(���^�����45,61� Binding Response ��ก����
��7�7�6/����	�7�2�ก��0��.=��,����*�7,��>-� �	1����	��*�7,��>-��-1�5-/���7�- �����4K,��/*�
	���6�>�1��.�����	���<��2;15��� port restricted cone NAT 5�/��2;15��� restricted cone NAT 
 ��กก��6���ก	�����>�1�ก�����>�	1��-1�7,��#� Permissible configuration �21��
�7�2� ��� STUN server 6�-��+	�<��2;1�7,�
ก��*��-+)��2;1��-ก�>�.�����	��/*� STUN server 
	,��ก�����2��21���7�2�./��.�����	�	,��5��>���+,��.�����	��2�2�-��> Publicly Routable 
Address �67��1��(���^������2;1>������������	 
 
2.2.7 Traversal Using Relay NATs (TURN) 
 Internet-draft 0�� MIDCOM ��*��#��;��>>��*���*-�	�--���ก8��8	.�� STUN [7] 
872��*�;��>>ก��	�7	�<� TURN �67��7,7��3����* 2.15 (TURN Configuration) 872��* TURN 
Client �2;1��* Private Network 1 ����.�/�01�2�K/*�-ก�> Private Network 2 J1�� NAT server 1 
61�� Private Network 2 	�7	1�ก�>�����������	J1�� NAT server 2 >������������	-� TURN 
Server 
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3����* 2.15 TURN Configurations 
 

 
 
 TURN ��#��;��>>0��8��8	.���.�����	�-�(���^����� 872 TURN ��4K, syntax 
��� option �/<�c����*����5-/�� STUN ��/*�.��-6�7�ก4�ก���1�-ก����{��0����<� STUN ��� 
TURN 872 TURN ����>
 request message ���2ก�1� allocate ()*�./�ก���,��0� TURN server 
45, allocate public ip address �������	 872 TURN server ��<�6�-��+�=�����7,��<� TCP ��� 
UDP ���ก�� allocate ��<���
Q�	45,�.�����	��,��0���7�7�6�������	J1����� TCP ��� 
UDP �7,7,�2 
 ���*-��ก TURN client .,�5���7�7�60�� TURN server ()*��-/*� TURN client 5� 
TURN server �>ก���61� TURN allocate request ��45, TURN ����75���L�ก��6=�5��> mutual 
authentication ���ก��	���6�> Integrity 6=�5��>��<�ก���,��0����ก��	�>��> >��/<�c��ก�� 
share secret  
 �21����ก�7� TURN Server ���-1 relay �
ก���ก�ก�	��ก PA ��2�� BA ��ก����*�       
�.�����	�61����ก�ก�	 J1�� TURN Server ��<�ก�./��.�����	�61�.=�6�*� TURN ()*���-�2;14� ���ก�ก�	 
0,�-;����������7�7�6���2����������	 872 TURN server ��>.=�6�*����61�	1����ก�ก�	��
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	�-������7�7�6�������	 872���*- permission 6=�5��>������7�7�6 7����<� inbound packet 
��ก��7�7�6�������	��<��7,��>ก��2�-��>4���กZ��0�� TCP �=�45, TURN server �����7ก��
�K/*�-	1��>> TCP ����*��a�5-�2�-/*���,�-�=���� 
 TURN server ��>���ก�ก�	872ก���K/*�-	1��>> UDP 5�/� TCP 87261�.=��,��0���
��*�.�����	�7,�2ก���0,��5�60,�-;�0��0,�.��- ()*���#���L�ก����*�-1-����6��L�3��  J�ก�./�   �-/*�
�.�����	�6�<�6
7ก���K/*�-	1�ก�>�.�����	��/*���*�2;10,����ก��,� �.�����	�	,��6�-��+��*��	�7	�<� 
active destination request 872��* request ��,�45,�(���^��������> ��<���<���20�����ก�ก�	��*61���
�-1�7,�0,��5�6 +,��.�����	�61����ก�ก�	�� TURN server ()*��-1�7,��#� TURN packet ()*�61�����*
���2����5-/�����ก�ก�	��ก�.�����	�3�2��ก��* TURN server 61�	1�����*�.�����	�872
���b��กก���0,��5�60,�-;� Indication message 
 Active Destination .��<���* Set ��,��-16�-��+����*2��������6��L�3��0��ก��
�K/*�-	1��>> TCP �7,��ก�.�����	�����* TURN Server ��,�����*2�����#���,�0��0��            
�������.K����/*���*�� set active destination request 
 ก��ก���=���<�5-7��< TURN Server �����>��
�ก�� binding ��5�1�� internal       
5-tuple ��� 1 5�/�-�กก�1� External 5-tuples ()*��7,�67�45,7;4�3����* 2.16 (Internal/External 
5-Tuple) 
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3����* 2.16 Internal/External 5-Tuple 
 

 
  
 Internal 5-tuple ���ก���K/*�-	1���5�1�� TURN Server ��� TURN Client ()*���#�
ก���K/*�-	1�����4���L�0�� TCP ���4���L�0�� UDP ��<� ./�ก����-ก��0��������7�7�6�������	
��ก TURN Client ��*61� Allocate request -�ก�>������7�7�6�������	��* Allocate Request 
��<��7,61�����,� external local transport address ./�������7�7�6�������	��ก��ก TURN 
Client (The allocate transport address)  
 External 5-tuple ./� ก����-ก��0�� External local transport address ก�>����
��7�7�6�������	0���.�����	�3�2��ก ()*� TURN Client �7,�=�ก��	�7	1�J1�� TURN Server 
���*-	,��-1�7,��#�4��	1�� External 5-tuples �-/*� TURN Client �-1-�ก��	�7	1�ก�>8S6	��/*�R ��*���ก
�ก�	�7,��>5�/�61���ก allocate transport address ��* External 5-tuples ��<�+;ก6�,��0)<� 
 6=�5��> TCP TURN Server �-1�=���#���*	,���������0,�-;���*�7,��> �	1��#����2�ก��
61�	1�0,�-;���<�5-7��5�1�� socket pair ()*�-�.��-6�-���L�ก�� 4���L�0�� UDP ��<� TURN Server 
��5� magic cookies 4� 128 byte ��ก0���	1�� UDP Packet +,��>����>
4����ก�ก�	 
���2ก�1� TURN control packet ��/*�4K,6=�5��>��กZ�ก���K/*�-	1����ก���7��0�� Binding 4���L�
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0�� TCP 5�ก9:�2479:�25�)*���7ก��	�7	1� TURN Server ก�����7ก���K/*�-	1���<�5-7 ���
6=�5��>��<� TCP ��� UDP �-/*� TURN Server 5-7����ก���K/*�-	1�4�ก�����*�-1�7,��>0,�-;�
5�����ก��*5-7K1��������,� K1��0��ก��61���2���.�����	�4� TURN ��	�>6�����* allocate 
request  
 TURN Server ����> UDP Packet ���ก���K/*�-	1� TCP ��ก�.�����	�3�2��ก
��1���<� TURN Server ��
Q�	45,�.�����	��7,6��L��4�ก��61����ก�ก�	��< ��* Specific transport 
address  
 
2.2.8 Hardware 
 CISCO �7,��{����L�ก��45-1R 45,ก�>S���7���� 872���*-.��-6�-��+45,ก�>
S���7������/*��=�-�4K,����7�������	��� ()*���#��
�ก�����*�;,��ก-��	�.�6	���7�7�6-���L�ก��5�
�6,����4�5��2��กZ��()*�	�<�.1��7,���	�-.;1-/�0���	1���
�ก��� ��ก��<�2���=�����7,��7����ก�1�
(���^���� ��/*����ก�=�����7,872	��ก�>S���7����  
 
6�
� 
 ��ก��ก6������������2��*�ก�*2�0,���=�45,J;,����2-����.�74�ก���ก,�PQ5�ก��61�
0,�-;�-��	�.�6	���7�7�6J1�� NAT server 872��/�ก��L��ก,�0�PQ5���* NAT server ��/*����ก  
 1. ก���ก,�PQ5�7,�2��L���<�=�45,8���ก�-��*4K,����2;12��6�-��+�=�����7, 872�-1	,��
�0,����ก,�08���ก�-45-1 
 2. ก���ก,�PQ5�7,�2ก���ก,�08���ก�-��* NAT server ��<� 2���-1-���ก����2�0,�-�
b)กZ� ����ก,�PQ5���/*����<872	�� ��/*����ก��#���L�ก����*.1��0,��(�>(,�� �������	,���0,�4�ก��
�0�2�8���ก�- 872�=�8���ก�-��*-���,45,��,�4�(���68.,70����>>�d�>�	�ก�����
ก(�4�61��0�� 
module network ()*�ก���0,����=�.��-�0,�4���/*�45,6�-��+�0�2�8���ก�-�7,��<��=��7,K,�-�ก
���������*2������6-��-/*�-�ก����ก�����K��45-1 

 


